## **Government Tender Notice**

## Invitation of Tender Notice Nos.91.92,93,94,95 & 96/Seri/Eng/Civil/PCR/MSD/2019-'20.

Sealed Tenders are invited by the Executive Engineer, Sericulture, West Bengal, 45, Ganesh Chandra Avenue, (2<sup>nd</sup> floor), Kolkata-13 for the following works in the dist. of Murshfdabad from the bonafide experienced and resourceful contractors having experienced in such type of works in pure Govt. Department / Zilla Parishad.

NIT	Name of the Work		Jee of works in pure		Time of completion
	The or the Work	Estimated Cost	Earnest Money	Place of Work.	of work.
91	Renovation of 2 Nos. Office Toilet with S/P works, water supply arrangement at Akherighata Seri, Complex, Murshidabad under P.C.R.	Rs.1,87,050.00 (Rupees One Lakh Eighty Seven thousand Fifty) only.	Rs.4,680.00 (Rupees Twelve Thousand Five Hundred ) only.	Akherighata Sericulture Complex, Murshidabad	1 (One) month from the date of issue of Work Order.
92	Replacement of doors & window repairing of floor water supply arrangement of 2-Storied Rearing House at Akherighata Seri. Complex, Murshidabad under P.C.R.	Rs.4,42,111.00 (Rupees Four Lakh Forty Two thousand Onne Hundred Eleven)only.	Rs.11,055.00 (Rupees Eleven thousand Fifty Five )Only	-do-	-do-
93	Repairing of Rearing House No.2 with Verandah Grill at Kumarpur Seri. Farm, Murshidabad under P.C.R.	Rs.4,16,557.00 (Rupees Four lakh Sixteen Thousand Five Hundred Fifty Seven)only	Rs.10,415.00 (Rupees Ten Thousand Four Hundred Fifteen) Only.	Kumarpur Sericulture Farm, Murshidabad.	-do-
94	Anti-termite Treatment of Office Building Store/Godown and Rearing House of Kumarpur Graft Nursery Murshidabad under P.C.R.	Rs.49,659.00 (Rupees Forty Nine Thousand Six Hundred Fifty Nine)only.	Rs.1,295.00 (Rupees One Thousand Two Hundred Ninety Five)only.	Kumarpur Graft Nursery, Murshidabad,	-do-
95	Repairing of Computer Section (G.F.) with fitting, fixing M.S. Grill for O/o.the Dy. Director of Sericulture, Berhampore, Msd. under P.C.R.	Rs.48,650.00 (Rupees Forty Eight Thousand Six Hundred Fifty)only.	Rs.1,220,00 (Rupees One Thousand Two Hundred Twenty) Only.	O/o. the Dy. Director of Sericulture, Berhampore, Murshidabad.	-do-
	Supplying, fitting & fixing Water Storage - Tank with allied works at Regional Grainage, Berhampore.  Murshidabad under P.C.R.	Rs.1,30,666.00 (Rupees One lakh Thirty Thousand Six Hundred Sixty Six)Only.	Rs.3,270.00 (Rupees Three Thousand Two Hundred Seventy)only.	Regional Grainage, Berhampore, Murshidabad.	-do-

Tender papers (NIT), Priced Schedule & Form-2911(ii) etc. may be obtained/downloaded from *seriwbgov.org* at free of cost.

Last date & time of submission of Tender	27-01-2020 upto 3-00 P.M. at Head Quarters, Kolkata.
Date & time of opening of Tender	27.01.2020 upto 3-30 P.M. at Head Quarters, Kolkata.

Tender should be submitted / dropped in the box kept at Head Quarters, Kolkata and papers should be arranged in the following manner.

Envelop - I, should be superscribed as Technical Bid for N.I.T No......SL No. of Work, Name of agency and it should contain (Self Attested) PAN Card. Last I.T. Return, valid GSTIN Registration, P.Tax Challan, Credential (similar nature of work at about 60% of Tender Value) EMD & Pest Control License etc for NIT No.94 and sealed.

Envelop - II, should be super scribed as Financial Bid for N.I.T. No. ...... SL No. of Work, Name of Agency and should contain filled in - 2911 (ii) quoting the Rate and Sealed.

2(two) envelopes as noted above (I & II) should be put in a bigger envelop and sealed. Agency should write clearly N.I.T. No., Name of Work, SL.No. and Name of the Agency on this Envelope and drop the same as per schedule mentioned in this N.I.T.

Technical Bid will be opened first. Financial Bid will be opened only if the technical Bid is found acceptable.

Labour Cess will be deducted from bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles (Sericulture), West Bengal. 45, Ganesh Ch, Avenue (2nd floor), Kolkata-13 on any working days and web site *seriwbgov.org*. The Commissioner of Textiles (Sericulture), West Bengal reserves the right to reject/cancel all the applications without showing any reasons thereof. If any date as above happens to be holidays the next working days will be considered as stipulated date. Acceptance of lowest tender is not obligatory.

N.S.C./ K.V.P. will not be accepted as Earnest Money. Only the Bank Draft of a Nationalised Bank will be considered as Earnest money. Acceptance of lowest Tender is not obligatory.

Notwithstanding anytime contained in this Notice Inviting Tender, the other terms & conditions and special terms & conditions will remain binding upon all concerned.

Executive Engineer,
Directorate of Sericulture,
West Bengal.

Dated, 23 [12] 2019

Memo. No. 820 Seri/Eng/Civil/PCR/MSD/4(Vol.-5),

Copy forwarded for information & necessary action to :-

7. The Deputy Director of Sericulture, Berhampore, Murshidabad.

24 The Notice Board of this Directorate.

3) The Website of this Directorate.

Executive Engineer,
Directorate of Sericulture,
West Bengal.

## Price Schedule for Supplying. Fitting, Fixing Water Storage Tank with allied works at Regional Grainage Building, Berhampore, Murshidabad under P.C.R.2019-20.

SI. No.	Description of Items	Quantity	Unit	Rate	Amount
1.	Dismantling all types of reinforced concrete works and stacking the serviceable materials as directed.	6.00 m3	m3	2056.00/m3	12,336.00
2.	Hire and labour charges for shuttering with centering and necessary sagging etc 3 <sup>rd</sup> floor.	15.00 m2	m2	366.00/m2	5490.00
3.	Reinforcement for reinforced concrete works in all sorts of structure including straightening of rods etc. Tor Steel	135.00 Kg.	Kg.	71.26/Kg.	9620.00
4.	Ordinary cement concrete works (1:1.5:3) with graded stone chips 20 mm down Pakur Variety.	1.20 m3	m3	5933.63/m3	7120.00
5.	Plastering to wall floor ceiling etc with sand cement mortar . With 15 mm thick (1:4)	30.00 m2	m2	155.00/m2	3875.00
6.	Neat Cement Punning about 1.5 mm thick. Etc.	20.00 m2	m2	34.00/m2	680.00
7.	S/F/F Boiling Water Proof ply conforming to IS 303/1989 6 mm thick.	4.40 m2	m2	923.00/m2	4061.00
8.	Copal Finish of approved quality including preparing surface 2 coats on old wooden surface.	37.50 m2	m2	252.00/m2	9450.00
9.	S/F/F. Hand shower of local make 15 mm dia.	1-No.	No.	350.00/no.	350.00
10.	Removal of squanting plate with repairing of damaged area by providing ceramic tiles etc	1-No.	No.	400.00/no.	400.00
11.	Earth work in excavation of the foundation trenches or darin etc.	2.20 m3	M3	119.47/m3	263.00
12.	Ordinary cement concrete works (1:2:4) with graded stone chips 20mm down etc. pakurvarity (Flag hoisting area)	1.50 m3	M3	5386.16/m3	8079.00
13.	Single Brick Flat soling of picked jhama bricks including levelling and dressing etc.	5.00 m2	M2	326.00/m2	1630.00
14.	Brick work with 1 <sup>st</sup> class brick in cement motar (1 :4) in foundation and plinth.	2.00 m3	M3	5443.00/m3	10886.00
15.	125mm thick brick work (1:4) cement sand mortar. etc	1.40 m2	M2	677.00/m2	948.00
16.	Suppling P.V.C. water storage tank of approved quality with closed lid (Black) multilayer 1000 lt. capacity	2 nos	No.	5128.00/no.	10256.00
17.	Labour charges for hoisting of P.V.C. storage tank	2 nos	No.	139.00/nos	278.00
18.	S/F/F- CPVC pipes conforming to IS-15778:2007 with all necessary accessories. i).For 15mm dia ii) For 40mm dia iii)For 50mm dia	4.00 m 6.00 m 6.00 m	M M M	106.00/m 403.00/m 658.00/m	424.00 2418.00 3948.00
19.	Labour charges for fitting fixing G.I. pipes above ground (exposed) 40mm dia (existing line)	20.00 m	m	92.00/m	1840.00

20.	S/F/F- Gun metal wheel valve of approved make	3 nos	nos	1590.00/no.	4770.00
	& brand & tested to 21 kg/cm2( 40 mm dia )			2550.00/110.	4770.00
21.	S/F/F- C.I. pipes only conforming to IS-3989:2009with bobbing etc. (75 mm dia)		m	617.00/m	1148.00
		1.86 m			
22.	M.S. oranamental grill of approved design				
	continuously welded joints etc.	114.00 kg			
	i) 10-16kg/m2/grill weighing	63.00 kg	Kg	72.38/kg	8251.00
	ii)Grill weighing above 16kg/m2 & above		kg	70.46/kg	4439.00
23.	S/F/F M.S. Sheet fitted and fixed one end on grill gate .	1.00 m2	M2	977.00/m2	997.00
24.	Priming one coat on steel surface with synthetic enamel primer of approved brand etc.	11.20 m2	M2	29.00/m2	325.00
25.	Painting with best quality synthetic enamel paint etc. ( 2 coats )	11.20 m2	M2	77.00/m2	862.00
26.	Mazdoor(male) for shifting of almairahs	2 nos	No.	245.00/no	490.00

Total=Rs. 1,15,634.00

Add 12%GT = Rs.13,876.00

Add 1% labour welfare cess= Rs.1156.00 Total =1,30,666.00

Executive Engineer
Directorate of Textiles (Sericulture)
Rovernment of West Bengal